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I.lim(e™ — cosx + m)

x—0

T

b. 0

a.l

+3
3 )

_1(x

2. lim tan
x—0

SN}

IS o

R|on

SR

x2M —1
x"—1

3. lim
n—-0

d.

b. 1

;M| N

N on

;M| N

|x —4 |—1

5. lim

x2 —9

x—3

c.6

S A i)
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2
—2x+m . .
X " 2XTM s Exist.
x— 5

x—5
b. -15

6. Find the value of m if lim

c. 3

a.l15

is Exist.

x+m —5
x— 2

xX—2
b. =23

7. Find the value of m if lim

C.

a.23

c. 8

b. DNE

lim
x—0
a.s

0.

5—+V25+x

c. —10

10

b.

d. DNE

c. 6

b. 3

S A i)
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3x3 — x% +5x
x—5

lim
x—0

I1.

d. 5

c. 0

a.3

(34x)3 =27

lim
x—0

12.

c. =27

b. 27

a.9

a.2

x2 +x
\ xr+2x2

lim
x—0

14.

d. 0

c. DNE

-

N | on

S A i)
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limvx—5
x—5

16.

c. DNE

lim (x? + 1)

x—0

17.

C.

C.

1—e*
1-—¢*

lim
x—0

19.

c. DNE

a.l

[x + m] find the value of m

= lim
x—0.5

9 —9 cos?x

lim
x—07T

20.

d. 2

c.0

b.1

Qo 8 )
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22. For what value of the constant c is the function f

continuous (—oo , 00 )

}

if x<3
if x =3

b.

cx® + 2x

23. Find the value of a and b that make f continuous

< | B~

o~ | <

4
7

everywhere

——
o
V
o
o XA
Voo,
R N
)
- =
- 2
4+
_7__b_
zxxz_nm
x
S
N—— ——
I
=3
Y

b.a=b=1

a.a=b=0.5

a=b=—1

a=b=—05

S A i)
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24. Find the value of a that make f continuous everywhere

a(tan™'x + 2) if x<0
f(x) = 2b* —7 if0<x<3
In (x — 2) + x? ifx>3
a.2 b. Z c. = d. =
2 2 2 2

25. Determine where the function

2_
f(x) = nGD is continuous

Vx2—2x
a.(-o0 ,—-1) U (2 ,) b..(— »,—1] (2 ,)
c. .(—oo,—=1) U (1,0) di-0 ,0) U (2 ,00)

26. Determine the values of a and b that make function

continuous at x=(
a+cot™lx Lf x<0
f(x) = 3b—= if x=3
b+tanx if x>0

0508564850 S il
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T _r _ I __T
aa——z,b—4 ba—4,b— Z
C az_z’b—z d-a= E;b:—E
2 2 2 2
27. Determine where the function
/ X
f(x) = xtite is continuous

=3
a. (V2 ,-1) u (LvV2)  b..(-1,V2]Uu 2, )

c. (-1 ,00) d. (V2 , )

28. Determine where the function

IS continuous

f(x) = “T =
b.(-3 , 21 U [2.3) b..[-3, —2]u (2,3)

c. {xeR i x #+ 2} d.{xeR:ix #+ 3}

29. the value of a that make f continuous everywhere

VE—x— P
i X
f(x) ={v10—x—3
a if x=1
a.’ b_—3 C z d =
2 2 T3 2

0508564850 S il
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30. what is the kind of discontinuously of

f(x) = {xz sin l}

X

a.jumb b. removabler  c. infinity d. oscillation

31. what is the kind of discontinuously of

f(X)={ x% — 4 xiO}
4 x=20
a.jumb b. removabler  c. infinity d. oscillation

32. determine where f(x) = { xcotx} is discontinuous

nm
a.x=7,nez b. x=nm ,nez

C.(—oo,oo) d. (—,0)

0508564850 S il
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33. the value of a, b that make f continuous at x=1

x> —bx—3 .
f(x) = X+ 1 4o
ax+5 Lf x=—1
a.2,9 b.9, -2 c.-9,-2 d.—9,2

34. Which function is continuous on [0 ,1]
a f(x) =v1l—x
b, fx) = 22

c.f(x)=[x+1]
1 if 0< x<05

d. f(x) =
-1 if 05 < x<1

0508564850 S il
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— 4 , then a =

15+ax
—2x+7

lim
X—00

39.

C.

+m)= 8 ,thenm =

5 +4x2
2x%2—6

lim (
X—00

40.

10

a. 4

Y _ 1 finda b

+3

2

(a—3) x>+ xP
X

lim
X—00

41.

c. -3, -2

3,2

a. 3, 1

—2 ,finda,n

a x3—5x3+ nx2+7
3x%+6

lim
X—00

42.

c. 5, -6

5,6

b.

a.-5,3

x 245 .
-2

x—oo 10+ x
1

lim

43.

c.?2

— | N

b.

a.

-1 X242
x+1

lim sec
X—00

44.

S A i)
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i 80 x 92460
49. lim

x—0 8 x 02415 -
a. 4 b. —4 c. 10 d. —10
50. lim V9x2—3x+1—3x =
X—00
a.+ b. = c. -+ d. —=
2 4 4 2
51. Determine a vertical asymptotes if
5
™) = s
a.n3 b. In2 c.ln4 d. 3
52. Determine a slant asymptotes if
3
X
f(X)  x2—x—2
a.y=x+1 b.y=x-1 C.y=x d.x=y+1

53. if y = sin®x + cos?x find y

a. 1 b. —1 c. 0 d. 2 sinxcosx

0508564850
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Inx

54. if f(x) = ez then f(9) =

9

a. 1 b. C. 1 d. 9
9 6

55. if y= In(tanx) then y =

a. sec’x b.sinx c.secxcscx  d.csc’x
56. which a function is not differentiable at x=0
a. f(x) = sin |x| b. f(x) = |x|?

c. f(x) = cos |x]| d. f(x) = x|x|

57. if f(x) = e?n(sinx) find f(X) _

a. 2cos 2x b. cos 2x c.sin2x d. 2cos x e2Insinx

58. if f(x) = Vx3 + 2x? 4+ 4 have an inverse function g(x)
what is the value of g(4) =

0508564850 S il
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59. if lim FEDTO = 21, f(x) = »* —ax find a =2

a. =5 b. -36 c. 12 d. —12

60. if sinx = xy then
2y + xy +Xy =

a. 1 b. 0 c. —1 d. 2

: _ .3 1 _
61. if y=u 5u,thenu—f(x) 3

f1)=1,f@)=2findy atx=1

a. 14 b. 22 c. —14 d. =22

62. if £(4)=5, find

Q) _
lim =5

a. 20 b. —20 c. 10 d. —10

0508564850 S il
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2x+k
(x—1)?
horizontal asymptote at (0 , 6)

63. if f(x) =

+ a, find a, k where f(x) has a

64. if y = acos3x where qis constant cos3x # 0 find a

where y" + 2y — 14 cos3x = 0

a. 2 b. —2 c. 1 d. —1

65. if f(x) = x3g(x) + h(g(x)) , where , g (1) =4
g(1) =1, h(x) =2x*+1 find (1)

a. 19 b. 23 c. —23 d. —19

66. if y=u+sec5u, u=x3+7x findy atx=0

a.7 b. 8 c. 6 d. 9

0508564850 S il
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67. ff(2)=4,f2) =5,
find lim =9 f@ _

x—2 x—2

a. —20 b. 20 c. 16 d. —16

68. if x=+t+3, t=cos2y+tany findy aty=0

a. 4 b. c. —4 d. 0

e

69. which a function is not differentiable at x=1

x—1
a. |x-—1| b. =
2x—1, x<1

o 1= {4x 15, x = 1) d- Va3
70. find the derivative of the function

f(x) =tan"1(2e% )at x=0

6 6 2
a. Z b. g C. 2 d. E

71. Determine the value of x for which the tangent line of the

function y = cos (y) —x% + 2x — 2 is horizontal

...................................................................................................................................................



7. if x = e"zy —eY find% at x =0
X

(2a—1)x+5b if x>1
73. if f(x) =
ax3 —bx +5 iLf x<1

Find values of a, b which make f(x) is differentiable at x =1

c.a=0 ,b=1 d.a=1 ,b=0

74. if f(x)= InVx2+7 findy(x)at x=1

1 1
a. 8 b.g c. 1 d.—g

0508564850 S il
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75. if f(x) = cos’x then f (x) +4f(x) =

a. 0 b. 1 c. 2 d. 0

76. if f(x) = xsinx + cos x
then x f () +xf(x) —2f (x) =

a.3 b. 1 C. 2 d. 0
. 1962 i '
77. if f(x) = " find f(x) at x=1
a. 1 b. 1 C. lnl d. lnl
2 4 2 4
78 if y = 10810 (Zx — 3) find y'
2 b 2 c. — d. =
2x

a. .
(2x-3) (2x—-3)In10 2x—3

79. Find all the value of x for which the tangent line to

y = 2e3* s horizontal

1 1
a. x =—7 b. x=0 vc y==3 dy=20

80. if siny= 3x findy at y=0

0508564850
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a. 0 b. 3 c.% d. —3

81. The slope of the tangent to the graph of

f(x)=+x =1 at x=4

1
a.— b. C.
2

o
ol

1
4 8

82. The eight of the ball in feet after t sec, at is given by
f(x) = —6t* 4 24t +9 what is the maximum height of
the ball?

a. 24 b. 0 c. 33 d. 9

83. A product sells for 40 AED, with the price increasing at
the rate of 5 AED per month at this price consumer buy

2000 items, where the number sold is decreasing at the rate

of

10 AED per month, what rate is the total revenue change?

0508564850 S il
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a. 10400 b. 9600 c. 2055 d. 2040

84. Use the logarithm to find

4 xVx —
= (xV) at x=1

a. 1 b. 2 c. 0 d. —1

85. A bacterial population starts at 500 and triples every day,

find he percentage rate of change in population.

a. 55% b. 70% c. 110% d. 140%

86. if f(x) = cos (3x), find @7 (x)

a. 337 sin (3x) b. — 337 cos (3x)
c. — 337 sin (3x) d. 337 cos (3x)

87. if f(2)=5 f(@=3,f6G)=4.f5)=—6,,
h(2x — 8) = x*f(x) find h'(2)

0508564850 S il
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a. 32 b. 20 c. —110 d. =55

88. if f(x) passing (4, 5) and the tangent line of the

function f(x) intersect the x-axis at 45°

then find lim >—®
o4 4x—16
a. 4 b. — 1 c. —5 d. 1
4 5

89. if s(t)=t2 — = (znt) where s(t) represents the
T

position of an object in meter , compute the acceleration of

the object at t =1 sec

a.l b. T c. -1 d. 0

90. Which of the following function has a tangent line

at x =0
a. f(x)=Vx b.f(x)=|x|
c. f(x)= tan~! x d. f(X) B {Zxe-I;gl : Ll]]: ;C; (())}

0508564850 S il
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91. if f3)= -9, f(@B3) =10,

2(4)—
find lim 2%
x—3 x“—9
a. 30 b. —30 c. 90 d. =90

x—0 x—1 o

If f(x) = x> —2x
a.5 b. 0 c. 20 d. —1

93. if f(x) =m/f(x) where m>0and f (x) =32 ata

given point x m find the value of m.

a. 6 b. 8 c. 5 d. 7

94. If f(x) = x3—4x*+ 5 then

find lim 197G _
x—3 x—3
a. 3 b. 10 c. —4 d. 7

0508564850 S il
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95. If3< f(x) <7 forallvalue of x on (3, 7) then the
minimum value for f(7) — f(3) is

a. 21 b. 10 c. 4 d. 12

96. If f(x) = V16 — x2 then the domain of f (x) is a

a. [ — 4,4] b. (-44)  c. (—=40)  d.[—4,0]

97. If N(x) =4 — x+ sin(x) where x on [~ m, ] find the

value of ¢ ?
a. = b.2,6 -2 c. —= d. =
3 2 2
98. Find a value of satisfying the conclusion of the mean

value theorem for f(x) = x*+2x+1 on[0,1]

a.0 b.

@)

—_

o
w |-

1
4

99. Find a value of satisfying the conclusion of the mean

value theorem for f(x) = x> —x on[0,2]

0508564850 S il
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